3-Digit Minus 2-Digit Subtraction (C)

Name:

Date:

439 — 99 =
884 — 75 =
421 — 87 =
901 — 54 =
396 — 68 =
671 — 27 =
588 — 92 =
892 — 33 =
298 — 60 =
391 — 49 =
199 — 25 =
810 — 73 =
908 — 54 =
691 — 61 =
829 — 33 =
506 — 21 =
908 — 66 =
366 — 76 =
248 — 40 =
699 — 97 =
673 — 47 =
739 — 45 =
655 — 56 =
864 — 83 =
741 — 84 =

Calculate each difference.

537 —-63 =

708 — 54 =

469 — 82 =

529 - 63 =

109 - 15 =

974 — 25 =

917 — 22 =

131 —-52 =

274 —-171 =

225—-70 =

412 — 66 =

481 — 53 =

732 —25 =

603 — 57 =

358 — 54 =

604 — 19 =

370 - 91 =

491 — 15 =

310 — 88 =

170 — 43 =

960 — 85 =

212 -79 =

759 — 82 =

961 — 24 =

627 — 39 =

Score:
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3-Digit Minus 2-Digit Subtraction (C) Answers

Name: Date: Score:

Calculate each difference.

439 — 99 = | 340 537—-63 = 474
884 — 75 = | 809 708 — 54 = | 654
421 —87 = 334 469 — 82 = | 387
901 — 54 = 847 529 — 63 = | 466
396 — 68 = 328 109 -15= 94
671 — 27 = | 644 974 — 25 = | 949
588 —92 = 496 917 — 22 = | 895
892 — 33 = | 859 131 -52= 79
298 — 60 = | 238 274 —71 = | 203
391 —49 = 342 225—-70= | 155
199 -25= 174 412 — 66 = 346
810 —-73 = 737 481 — 53 = 428
908 — 54 = | 854 732 —=25= 707
691 — 61 = 630 603 — 57 = | 546
829 —33 =796 358 — 54 = | 304
506 — 21 = | 485 604 — 19 = | 585
908 — 66 = 842 370 —91 = | 279
366 —76 = 290 491 —15= 476
248 —40 = | 208 310 —88 = 222
699 — 97 = 602 170 —43 = 127
673 —47 = 626 960 — 85 = | 875
739 —45 = | 694 212—-79 = 133
655 —56 = | 599 759 —82 =677
864 —83 = 781 961 — 24 = 937
741 — 84 = 657 627 — 39 = | 588
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